1. Read the text and choose the best answer.

a) What did Neil Armstrong mean when he said, ‘That’s one small step for a man, one giant leap for mankind?’
1. Walking on the moon is more important for Neil Armstrong than mankind.
2. Walking on the moon is a very important step for the human race although it is just a step for Neil Armstrong.
3. Walking on the moon is a very important step for Neil Armstrong although it is just a step for human being. t

b) According to the writer, which wonder is the most important for the comfort and happiness of people?
1. Space travel
2. Medical science
3. The Olympic Games

c) Why does the writer think that holidays are a wonder of the modern world? E
1. People do not have to work, and this is wonderful.
2. Holidays enable a lot of people to move and see other parts of the world.
3. The number of tourists is very important for countries.

2. Read seven more statements made by Ann about her choice of wonders. Which statement goes with which wonder?
a) Surgeons can perform the most amazing operations.
b) We see people from warring countries shake hands.
c) Small children can programme them sometimes more easily thanadults!
d) No government dares to use suchweapons.
e) Maybe visiting one country a day is not your idea of the best way to see the world! .
f) We produce enough to feed the world.

g) Progress in this area is slower now. Not as much money goes into research as it did inthe 1960s. ... ..



